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Show g work to receive credit. pH = pK, +log(fﬂl:'ﬂ]
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1. (3 Pts) Calculate the PH of a solution that is 0.410 M in HOCI and 0.050 M in NaOCI. [Ko(HOCH = 3.2 x 107%)
HocL + Hho == HoT+ 0™
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2. (3 Pts) Calculate the pH of a solution that is 0.20M NHj(aq) and 0.35 M NH,Cl(aq). (Ku,(NH;)=18x 107)
NHypg) + MHyChog) = My T LT
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3. | _' ts) Which one of the following is a buffer solution?

@ 0.40 M HCN and 0.10 KCN D) 0.10 MKCN

0.20 M CH;COOH E) 0.50 M HCI and 0.10 NaCl
C) 1.0 M HNO; and 1.0 M NaNO,

4. (4 Pts) A solution is prepared by mixing 500. mL of 0.10

NaOCl and 500. mL of 0.20 M HOCI. What is the
- pH of this solution? [K,(HOCI)=3.2 x 10%]
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5. (3 Pts) Assuming equal concentrations of conjugate base and acid, which one of the following mixtures is
suitable for making a buffer solution with an opnmum pH 0f9.2-9.3?
) CH;COONa/CH;COOH (K,=1.8x107) D) NaNO,/HNO;(K,=4.5x 107
§ NH; / NH,Cl (K, =5.6 x 107'%) E) NaCl/HCl
NaOCl/HOCI (K, =3.2 x 107%)

6. (5 Pts) You have 500.0 mL of a buffer solution containing 0.20 M acetic acid (CH;COOH) and 0.30 M sodium

acetate (CH;COONa). What will the pH of this solutlon be after the addition of 20.0 mL of 1.00 M NaOH
solution? [K,=1.8 x 107]
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7. (4 Pts) Will a 0.1 M solution of NH,;NOs(aq) be acidic, basic, or neutral? Write hydrolysis equation(s) to

support your answers.
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